

519.216

The article is devoted to the study of one class of nonstationary random processes in the frame of the correlation theory. New model conceptions for infinitesimal correlation functions are found. Using such approach it is also possible to obtain canonical representations which are analogous to the spectral decomposition of a stationary random process and can be obtained using the theory of associated open systems.

Key words: *nonstationary random processes, nonselfadjoint operator, associated open system.*

1.

[1], [2], [3], [4].

2.

[5], [5], [5].

[6; 7; 8].

3.

[5],

4.

$\langle t \rangle$ c

$$K(t, s) = M \langle t \rangle \overline{\langle s \rangle},$$

$$x_t \in M_{\langle} = \overline{V \langle t_k \rangle}_k$$

:

$$\begin{cases} iA \frac{dx(t)}{dt} + x(t) = 0 \\ x|_{t=0} = x_0 \end{cases} \quad (1)$$

$$K(t, s) = \langle x_t, x_s \rangle_{H_{\langle}}$$

:

$$\begin{cases} iA \frac{dx}{dt} + x = \{u \\ v = u + \{^+ \frac{dx}{dt} \end{cases} \quad (2)$$

$$\frac{A - A^*}{i} = \{ \{^+, \{^+ = J \{^*, J - \dots, A \in X,$$

$$X = (A, H, \{, E, J) -$$

$$(2) \quad \frac{d}{dt} \|x\|_H^2 = [v, v]_E - [u, u]_E.$$

(1)

T_t

$$x_t = T_t \langle_0.$$

, T_t

:

$$\begin{cases} iA \frac{dT_t}{dt} + T_t = 0 \\ T_t|_{t=1} = I \end{cases} \quad (3)$$

$$Z_t = -\frac{1}{2fi_x} \oint e^{it} (A-I)^{-1} Ad \},$$

$$(A-I)^{-1} A -$$

$$\frac{dZ_t}{dt} = -\frac{i}{2fi_x} \oint e^{it} (A-I)^{-1} d \} \tag{4}$$

$$(4) \quad iA, \quad : \quad iA \frac{dZ_t}{dt} = -\frac{-1}{2fi_x} \oint e^{it} (A-I)^{-1} Ad \}, \quad . \quad .$$

$$iA \frac{dZ_t}{dt} = -Z_t, \quad , \quad iA \frac{dZ_t}{dt} + Z_t = 0, \quad Z_t \quad T_t$$

$$A - , \quad Z_0 :$$

$$Z_0 = -\frac{1}{2fi_x} \oint (A-I)^{-1} Ad \} = -\frac{1}{2fi_x} \oint \left(\frac{I - A^{-1}}{\} \right)^{-1} d \} .$$

$$|\} | \geq \max(\|A\|, \|A^{-1}\|), \quad \left(I - \frac{A^{-1}}{\} \right)^{-1} = I + \frac{A^{-1}}{\} + \frac{A^{-2}}{\}^2 + \dots,$$

$$\left\| \frac{A^{-1}}{\} \right\| = \frac{1}{|\} | \|A^{-1}\| < 1.$$

$$Z_0 = -\frac{1}{2fi_x} \oint \frac{d\} }{\} I + \dots = I .$$

$$, \quad Z_t \tag{3} ,$$

$$, \quad Z_t = T_t .$$

$$W(t,s) = \langle 2 \operatorname{Im} Ax_t, x_t \rangle_H \text{ [5].}$$

1.

:

$$\frac{\partial^2 W(t,s)}{\partial t \partial s} = \left(\frac{\partial}{\partial t} + \frac{\partial}{\partial s} \right) K(t,s).$$

$$\begin{aligned}
& \cdot \quad (2) \quad : \\
& \left\langle iA \frac{dx_t}{dt}, \frac{dx_s}{ds} \right\rangle_H + \left\langle \frac{dx_t}{dt}, iA \frac{dx_s}{ds} \right\rangle_H = - \left\langle x_t, \frac{dx_s}{ds} \right\rangle_H - \left\langle \frac{dx_t}{dt}, x_s \right\rangle_H ; \\
& \left\langle iA \frac{dx_t}{dt}, \frac{dx_s}{ds} \right\rangle_H + \left\langle -iA^* \frac{dx_t}{dt}, \frac{dx_s}{ds} \right\rangle_H = - \left\langle x_t, \frac{dx_s}{ds} \right\rangle_H - \left\langle \frac{dx_t}{dt}, x_s \right\rangle_H ; \\
& - \left\langle 2\text{Im} A \frac{dx_t}{dt}, \frac{dx_s}{ds} \right\rangle_H = - \left(\frac{\partial}{\partial t} + \frac{\partial}{\partial s} \right) K(t, s); \\
& - \frac{\partial^2}{\partial t \partial s} \langle 2\text{Im} A x_t, x_s \rangle_H = - \left(\frac{\partial}{\partial t} + \frac{\partial}{\partial s} \right) K(t, s); \\
& - \left(\frac{\partial}{\partial t} + \frac{\partial}{\partial s} \right) K(t, s) = \frac{\partial^2}{\partial t \partial s} \langle 2\text{Im} A x_t, x_s \rangle_H = \frac{\partial^2}{\partial t \partial s} W(t, s) \quad (5) \\
& \frac{\partial^2}{\partial t \partial s} W(t, s) = -V(t, s).
\end{aligned}$$

$$(5) \quad , \quad A = A^*, \quad 2\text{Im} A = 0 \quad \left(\frac{\partial}{\partial t} + \frac{\partial}{\partial s} \right) K(t, s) = 0.$$

$$, K = K(t - s).$$

(1),

$$2. \quad \dim \overline{2\text{Im} AH} = r < \infty,$$

$$\left(\frac{\partial}{\partial t} + \frac{\partial}{\partial s} \right) K(t, s) = \sum_{r, s=1}^r \mathbb{E}_r(t) I_{rs} \overline{\mathbb{E}_s(s)},$$

$$\mathbb{E}_r(t) = \left\langle \frac{dx_t}{dt}, g_r \right\rangle_H = \frac{d}{dt} \langle x_t, g_r \rangle_H = \frac{d}{dt} \langle T_t x_0, g_r \rangle_H = \frac{d}{dt} \langle x_0, T_t^* g_r \rangle_H.$$

:

$$\left\langle 2\text{Im} A \frac{dx_t}{dt}, \frac{dx_s}{ds} \right\rangle_H = \frac{\partial^2}{\partial t \partial s} \langle 2\text{Im} A x_t, x_s \rangle_H = \frac{\partial^2}{\partial t \partial s} \sum_{r, s=1}^r \{r(t) I_{rs} \overline{\{s(s)}\}},$$

$$: 2\text{Im} A = \sum_{r, s=1}^r \langle \cdot, g_r \rangle I_{rs} \overline{g_s}, \quad g_r -$$

$$A, \quad \{r(t) = \langle x_t, g_r \rangle_H \quad [5].$$

$$\left(\frac{\partial}{\partial t} + \frac{\partial}{\partial s}\right)K(t,s) = -V(t,s),$$

$$K(t,s) = \begin{cases} K(t-s,0) + \int_0^{-s} V(t+\tau, s+\tau) d\tau, & t \geq s \\ 0 & \\ K(0,s-t) + \int_0^{-t} V(t+\tau, s+\tau) d\tau, & s \geq t \\ 0 & \end{cases} \quad (6)$$

$$\mathbb{E}_r(t) = \left\langle \frac{dx}{dt}, g_r \right\rangle_H$$

A -

$\{s_k\}$ (. . .

$$s_k = r_k - i \frac{s_k^2}{2}, \quad s_k \neq 0, \quad \sum_{k=1}^{\infty} s_k^2 < \infty$$

$$K = \left(A, l_2, g = \begin{pmatrix} s_1 \\ s_2 \\ \vdots \end{pmatrix}, (I_{r_s}) = -1 \right), \quad \dim \overline{2 \operatorname{Im} AH} = 1. \quad \mathbb{E}(t).$$

$$\mathbb{E}(t) = \frac{d}{dt} \langle T_t x_0, g \rangle_{l_2} = \frac{d}{dt} \langle x_0, T_t^* g \rangle_{l_2}, \quad \overline{(T_t^* g)_k} = \Lambda_k(t).$$

$$\mathbb{E}(t) = \sum_{k=1}^{\infty} x_0(k) \Lambda_k'(t),$$

$$\Lambda_k(t) = \overline{(T_t^* g)_k} = -\frac{1}{2fi_x} \oint e^{-i\lambda t} \left((A^* - I)^{-1} A^* g \right)_k d\lambda.$$

T_t^*

:

$$(A^* - I)^{-1} A^* g = f \quad (7)$$

A

\hat{A} [5]:

$$\left(\hat{A} f \right)_k = s_k f_k - i \sum_{j=k+1}^{\infty} f_j s_j s_k,$$

$$\}k = r_k - i \frac{S_k^2}{2}, \quad \left(\hat{A}^* f \right)_k = \bar{\}k f_k + i \sum_{j=1}^{k-1} f_j S_j S_k.$$

$$\left(\frac{\hat{A} - \hat{A}^*}{i} f \right)_k = - \sum_{k=1}^{\infty} \left\langle f, g \right\rangle g_k, \quad \hat{g} = \begin{pmatrix} S_1 \\ S_2 \\ \vdots \\ S_n \end{pmatrix} \quad (J_{rs}) = -1.$$

$$\hat{A}^* \hat{g} = \bar{\}k g_k + i \sum_{j=1}^k S_j^2 S_k = (\bar{\}k + i\chi_k) S_k, \quad \chi_k = \sum_{j=1}^{k-1} S_j^2.$$

$$(7) \quad \hat{A}^* g = \left(\hat{A}^* \} - I \right) f$$

$$(\bar{\}k + i\chi_k) S_k = (\bar{\}k \} - 1) f_k + i \} \sum_{j=1}^{k-1} f_j S_j S_k \tag{8}$$

$$(8) \quad S_k, \quad \sim_k = \bar{\}k + i\chi_k:$$

$$\sim_k = \frac{\bar{\}k \} k - 1}{S_k} f_k + i \} \sum_{j=1}^{k-1} f_j S_j.$$

$$\sim_k = y_k + i \} \sum_{j=1}^{k-1} \frac{y_j S_j^2}{\bar{\}j \} - 1}, \quad y_j = \frac{\bar{\}j \} - 1}{S_j} f_j,$$

$$\sim_{k+1} = y_{k+1} + i \} \sum_{j=1}^k \frac{y_j S_j^2}{\bar{\}j \} - 1}.$$

$$\sim_{k+1} - \sim_k = (y_{k+1} - y_k) + i \} \frac{y_k S_k^2}{\bar{\}k \} - 1}.$$

$$\sim_{k+1} - \sim_k = y_{k+1} + y_k \left(\frac{i \} S_k^2}{\bar{\}k \} - 1} \right) = y_{k+1} - y_k \frac{\bar{\}k \} - 1}{\bar{\}k \} - 1}, \quad \dots \}k = r_k - i \frac{S_k^2}{2}.$$

$$\sim_{k+1} - \sim_k = u_k, \quad :$$

$$y_{k+1} = y_k \frac{\bar{\}k \} - 1}{\bar{\}k \} - 1} + u_k, \quad y_1 = \bar{\}1 \tag{9}$$

$$(9) \quad :$$

$$\begin{cases} y_{k+1} = A_k y_k + B_k, \\ y_1 = \bar{y}_1 \end{cases}, \quad A_k = \frac{\bar{y}_k - 1}{\bar{y}_k - 1}, \quad B_k = u_k.$$

(9) :

$$y_k = A_1 A_2 \dots A_{k-1} y_1 + u_{k-1} + A_{k-1} u_{k-2} + A_{k-1} A_{k-2} u_{k-3} + \dots + A_{k-1} \dots A_2 u_1,$$

$$A_1 A_2 \dots A_{k-1} = \prod_{j=1}^{k-1} \frac{\bar{y}_j - 1}{\bar{y}_j - 1},$$

$$\begin{aligned} y_k &= A_1 A_2 \dots A_{k-1} y_1 + \sum_{j=1}^{k-2} \prod_{l=j+1}^{k-1} A_l u_j + u_{k-1} = \bar{y}_1 \prod_{j=1}^{k-1} \frac{\bar{y}_j - 1}{\bar{y}_j - 1} + u_{k-1} + \sum_{j=1}^{k-2} \prod_{l=j+1}^{k-1} \frac{\bar{y}_l - 1}{\bar{y}_l - 1} u_j = \\ &= \bar{y}_1 \prod_{j=1}^{k-1} \frac{\bar{y}_j - 1}{\bar{y}_j - 1} + u_{k-1} + \sum_{j=1}^{k-2} u_j \prod_{l=j+1}^{k-1} \frac{\bar{y}_l - 1}{\bar{y}_l - 1}. \end{aligned}$$

$$\dots f_j = \frac{y_j S_j}{\bar{y}_j - 1},$$

$$f_k(\bar{y}) = \frac{S_k \bar{y}_1}{\bar{y}_k - 1} \prod_{j=1}^{k-1} \frac{\bar{y}_j - 1}{\bar{y}_j - 1} + \frac{S_k}{\bar{y}_k - 1} u_{k-1} + \frac{S_k}{\bar{y}_k - 1} \sum_{j=1}^{k-2} u_j \prod_{l=j+1}^{k-1} \frac{\bar{y}_l - 1}{\bar{y}_l - 1},$$

$$\Lambda_k(t) = -\frac{1}{2fi_x} \oint e^{-it} \left(\frac{S_k \bar{y}_1}{\bar{y}_k - 1} \prod_{j=1}^{k-1} \frac{\bar{y}_j - 1}{\bar{y}_j - 1} + \frac{S_k}{\bar{y}_k - 1} u_{k-1} + \frac{S_k}{\bar{y}_k - 1} \sum_{j=1}^{k-2} u_j \prod_{l=j+1}^{k-1} \frac{\bar{y}_l - 1}{\bar{y}_l - 1} \right) d\bar{y}$$

$$, \quad k=1, \quad f_1(\bar{y}) = \frac{y_1 S_1}{\bar{y}_1 - 1} = \frac{\bar{y}_1 S_1}{\bar{y}_1 - 1}.$$

$$\Lambda_1(t) = S_1 e^{\frac{it}{\bar{y}_1}}.$$

$$k=2, \quad , \quad f_2(\bar{y}) = \frac{S_2}{\bar{y}_2 - \bar{y}_1} \cdot \left(\frac{\bar{y}_1(\bar{y}_1 - 1)}{\bar{y}_1 - 1} + \bar{y}_2 - \bar{y}_1 \right).$$

$$\bar{y}_1 \neq \bar{y}_2 \quad \Lambda_2(t) = \frac{S_2}{\bar{y}_2 - \bar{y}_1} \cdot \left(e^{\frac{it}{\bar{y}_1}} (\bar{y}_2 + iS_1^2) + e^{\frac{it}{\bar{y}_2}} (\bar{y}_1 + iS_1^2) \right).$$

$$\bar{y}_1 = \bar{y}_2, \quad f_2(\bar{y}) = \frac{S_2}{\bar{y}_1 - 1} \cdot \left(\frac{\bar{y}_1 \bar{y}_1 - \bar{y}_1 + iS_1^2 \bar{y}_1 - iS_1^2}{\bar{y}_1 - 1} \right),$$

$$\Lambda_2(t) = \frac{S_2}{\lambda_1^2} e^{\frac{it}{\lambda_1}} \left(-tS_1^2 + \lambda_1^2 \right).$$

$$\dim \frac{A-A^*}{i} H = 1 \quad x_0 = \hat{g}, \quad \dim l_2 = 1,$$

$$V(t,s) = \frac{|x_0(1)|^2 \cdot S_1^2}{|\lambda_1|^2} e^{\frac{i(\bar{\lambda}_1 - s)\lambda_1}{|\lambda_1|^2}}, \quad \hat{g} = \lambda_1, \quad \lambda_1 = r_1 - \frac{iS_1^2}{2}.$$

(6) :

$$K(t,s) = \begin{cases} x_0(1)S_1 e^{\frac{i(t-s)}{\lambda_1}} + |x_0(1)|^2 i \begin{pmatrix} e^{\frac{i\bar{\lambda}_1(t-s)}{|\lambda_1|^2}} & e^{\frac{i(t\bar{\lambda}_1 - s)\lambda_1}{|\lambda_1|^2}} \\ e^{\frac{i\lambda_1(t-s)}{|\lambda_1|^2}} & -e^{\frac{i(t\bar{\lambda}_1 - s)\lambda_1}{|\lambda_1|^2}} \end{pmatrix}, & t \geq s \\ \overline{x_0(1)S_1} e^{-\frac{i(s-t)}{\lambda_1}} + |x_0(1)|^2 i \begin{pmatrix} e^{\frac{i\lambda_1(t-s)}{|\lambda_1|^2}} & e^{\frac{i(t\bar{\lambda}_1 - s)\lambda_1}{|\lambda_1|^2}} \\ e^{\frac{i\bar{\lambda}_1(t-s)}{|\lambda_1|^2}} & -e^{\frac{i(t\bar{\lambda}_1 - s)\lambda_1}{|\lambda_1|^2}} \end{pmatrix}, & s \geq t. \end{cases}$$

$$\dim l_2 = 2, \quad \lambda_1 \neq \lambda_2 \quad x_0(1) = S_1, x_0(2) = S_2$$

$$\begin{aligned} V(t,s) &= |x_0(1)|^2 \cdot \frac{S_1^2}{|\lambda_1|^2} e^{\frac{i(\bar{\lambda}_1 - s)\lambda_1}{|\lambda_1|^2}} + \\ &+ x_0(1)\overline{x_0(2)} \cdot \frac{S_1 S_2}{\lambda_1(\bar{\lambda}_2 - \bar{\lambda}_1)} \left(\frac{\bar{\lambda}_2 - iS_1^2}{\bar{\lambda}_1} e^{\frac{i(\bar{\lambda}_1 - s)\lambda_1}{|\lambda_1|^2}} + \frac{\bar{\lambda}_1 - iS_1^2}{\bar{\lambda}_2} e^{\frac{i(\bar{\lambda}_2 - s)\lambda_1}{\lambda_1 \bar{\lambda}_2}} \right) + \\ &+ x_0(2)\overline{x_0(1)} \cdot \frac{S_1 S_2}{\bar{\lambda}_1(\lambda_2 - \lambda_1)} \left((\lambda_2 + iS_1^2) e^{\frac{i(\bar{\lambda}_1 - s)\lambda_1}{|\lambda_1|^2}} + (\lambda_1 + iS_1^2) e^{\frac{i(\bar{\lambda}_1 - s)\lambda_2}{\lambda_1 \lambda_2}} \right) + \\ &+ |x_0(2)|^2 \cdot \frac{S_1^2}{(\bar{\lambda}_2 - \bar{\lambda}_1)(\lambda_2 - \lambda_1)} \cdot \frac{(\bar{\lambda}_2 - iS_1^2)(\lambda_2 + iS_1^2)}{|\lambda_1|^2} e^{\frac{i(\bar{\lambda}_1 - s)\lambda_1}{|\lambda_1|^2}} + \end{aligned}$$

$$+ |x_0(2)|^2 \cdot \frac{s_1^2}{(\bar{\lambda}_2 - \bar{\lambda}_1)(\lambda_2 - \lambda_1)} \cdot \frac{(\bar{\lambda}_1 - i s_1^2)(\lambda_1 + i s_1^2)}{|\lambda_2|^2} e^{\frac{i(\bar{\lambda}_2 t - \lambda_2 s)}{|\lambda_2|^2}} ;$$

$$K(t-s, 0) = x_0(1) s_1 e^{\frac{i(t-s)}{\lambda_1}} + x_0(2) \frac{s_2}{\lambda_2 - \lambda_1} \left(e^{\frac{i(t-s)}{\lambda_1}} (\lambda_2 + i s_1^2) + e^{\frac{i(t-s)}{\lambda_2}} (\lambda_1 + i s_1^2) \right)$$

$t \geq s ;$

$$K(0, s-t) = \overline{x_0(1)} s_1 e^{-\frac{i(s-t)}{\bar{\lambda}_1}} + \overline{x_0(2)} \frac{s_2}{\bar{\lambda}_2 - \bar{\lambda}_1} \left(e^{-\frac{i(s-t)}{\bar{\lambda}_1}} (\bar{\lambda}_2 - i s_1^2) + e^{-\frac{i(s-t)}{\bar{\lambda}_2}} (\bar{\lambda}_1 - i s_1^2) \right)$$

$s \geq t .$

$$, \quad K(t-s, 0) = \langle T_t x_0, x_0 \rangle_{H_\zeta} = \langle x_0, T_t^* x_0 \rangle_{H_\zeta} ,$$

$$T_t^* x_0 = -\frac{1}{2fi} \oint_{\gamma} e^{-i\lambda t} (A^* - I)^{-1} A^* x_0 d\lambda .$$

$$x_0 = \hat{g}, \quad \langle T_t x_0, x_0 \rangle_{H_\zeta} = \left\langle T_t \hat{g}, \hat{g} \right\rangle_{H_\zeta} = \sum_{k=1}^{\infty} \hat{g}(k) \Lambda'_k(t) .$$

$$x_0 \neq \hat{g},$$

$x_0 :$

$$\left(\hat{A}^* - I \right)^{-1} \hat{A}^* x_0 = f .$$

$$\hat{A}^* x_0 = \left(\hat{A}^* - I \right) f .$$

$$\hat{A}^* x_0 = \bar{\lambda}_k x_0(k) + i \sum_{j=1}^k x_0(j) s_j s_k .$$

$$\left(\hat{A}^* x_0 \right)_k = \dagger_k . \quad ,$$

$$\dagger_k = (\bar{j}_k - 1) f_k + i \sum_{j=1}^{k-1} f_j s_j s_k . \quad (10)$$

$$(10) \quad y_k :$$

$$y_{k+1} = \frac{\}k\} - 1}{\}k\} - 1} y_k + u_k, \quad y_1 = \frac{\dagger_1}{s_1}, \quad (11)$$

$$y_k = \frac{(\bar{j}_k - 1)}{s_k} f_k, \quad \sim_k = \frac{\dagger_k}{s_k}, \quad \}k\} = r_k - i \frac{s_k^2}{2}, \quad \sim_{k+1} - \sim_k = u_k,$$

$$\sim_{k+1} = y_{k+1} + i \sum_{j=1}^k \frac{y_j s_j^2}{\}j\} - 1} .$$

$$\sim_{k+1} - \sim_k = y_{k+1} - y_k + i \sum_{j=1}^k \frac{y_j s_j^2}{\}j\} - 1} ,$$

$$\sim_{k+1} - \sim_k = y_{k+1} - \left(-\frac{i \}k\} s_k^2}{\}k\} - 1} + 1 \right) y_k = y_{k+1} - \frac{\bar{j}_k - 1 - i \}k\} s_k^2}{\}k\} - 1} y_k = y_{k+1} - \frac{\}k\} - 1}{\}k\} - 1} y_k .$$

$$\sim_{k+1} - \sim_k = u_k, \quad :$$

$$y_{k+1} = \frac{\}k\} - 1}{\}k\} - 1} y_k + u_k, \quad y_1 = \frac{\dagger_1}{s_1}. \quad (11)$$

$$(11) \quad :$$

$$\begin{cases} y_{k+1} = A_k y_k + u_k \\ y_1 = \frac{\dagger_1}{s_1} \end{cases}, \quad A_k = \frac{\}k\} - 1}{\}k\} - 1}, \quad B_k = u_k .$$

$$(11) \quad :$$

$$y_k = A_1 A_2 \dots A_{k-1} \frac{\dagger_1}{s_1} + u_{k-1} + A_{k-1} u_{k-2} + A_{k-1} A_{k-2} u_{k-3} + \dots + A_{k-1} \dots A_2 u_1,$$

$$A_1 A_2 \dots A_{k-1} = \prod_{j=1}^{k-1} \frac{\}j\} - 1}{\}j\} - 1},$$

$$y_k = A_1 A_2 \dots A_{k-1} \frac{\dagger_1}{s_1} + \sum_{j=1}^{k-2} \prod_{l=j+1}^{k-1} A_l u_j + u_{k-1} = \frac{\dagger_1}{s_1} \cdot \prod_{j=1}^{k-1} \frac{\}}{j-1} + u_{k-1} + \sum_{j=1}^{k-2} \prod_{l=j+1}^{k-1} \frac{\}}{l-1} u_j =$$

$$= \frac{\dagger_1}{s_1} \cdot \prod_{j=1}^{k-1} \frac{\}}{j-1} + u_{k-1} + \sum_{j=1}^{k-2} u_j \prod_{l=j+1}^{k-1} \frac{\}}{l-1}.$$

$$\dots f_j = \frac{y_j s_j}{\}}{j-1},$$

$$f_k(\}) = \frac{s_k}{\}}{k-1} \prod_{j=1}^{k-1} \frac{\}}{j-1} \cdot \frac{\dagger_1}{s_1} + \frac{s_k}{\}}{k-1} u_{k-1} + \frac{s_k}{\}}{k-1} \sum_{j=1}^{k-2} u_j \prod_{l=j+1}^{k-1} \frac{\}}{l-1},$$

$$M_k(t) =$$

$$= -\frac{1}{2fi_x} \int e^{-i\} t \left(\frac{s_k}{\}}{k-1} \cdot \frac{\dagger_1}{s_1} \cdot \prod_{j=1}^{k-1} \frac{\}}{j-1} + \frac{s_k}{\}}{k-1} u_{k-1} + \frac{s_k}{\}}{k-1} \sum_{j=1}^{k-2} u_j \prod_{l=j+1}^{k-1} \frac{\}}{l-1} \right) d\}$$

$$, \quad k=1, \quad y_1 = \frac{\dagger_1}{s_1}, \quad f_1(\}) = \frac{y_1 s_1}{\}}{1-1} = \frac{\dagger_1}{\}}{1-1}.$$

$$M_1(t) = \frac{\dagger_1}{\}}{1} e^{\frac{it}{\}}{1}}.$$

$$k=2, \quad f_2(\}) = \frac{1}{\}}{2-1} \cdot \left(\frac{\dagger_1 s_2 \}}{1} + \dagger_2 s_1 \bar{\}}{1} - \dagger_1 s_2 \bar{\}}{1} - \dagger_2 s_1 \right) / s_1 (\bar{\}}{1} - 1).$$

$$\}}{1} \neq \}}{2} \quad :$$

$$M_2(t) = \frac{1}{s_1 (\}}{2} - \}}{1}) \left[e^{\frac{it}{\}}{1}} \cdot \frac{i \dagger_1 s_1^2 s_2}{\}}{1}} - e^{\frac{it}{\}}{2}} \cdot \frac{i \dagger_1 s_1^2 s_2 + \dagger_2 s_1 (\}}{1} - \}}{2})}{\}}{2}} \right].$$

$$\}}{1} = \}}{2}, \quad f_2(\}) = \left(\frac{\dagger_1 s_2 \}}{1} + \dagger_2 s_1 \bar{\}}{1} - \dagger_1 s_2 \bar{\}}{1} - \dagger_2 s_1}{s_1 (\bar{\}}{1} - 1)^2} \right).$$

$$M_2(t) = \frac{1}{s_1 \}}{1}^2 e^{\frac{it}{\}}{1}} \left(-\frac{i \dagger_1 s_1^2 s_2}{\}}{1}} + i \dagger_1 s_1^2 s_2 + \dagger_2 s_1 \}}{1} \right).$$

,

$$k = 1 \quad V(t, s) = |x_0(1)|^2 \cdot \frac{|\dagger_1|^2}{|\jmath_1|^2} e^{\frac{i(\bar{\jmath}_1 t - \jmath_1 s)}{|\jmath_1|^2}}. \quad (6):$$

$$K(t, s) = x_0(1) \frac{\dagger_1}{\jmath_1} e^{\frac{i(t-s)}{\jmath_1}} +$$

$$+ x_0(2) \frac{1}{s_1(\jmath_2 - \jmath_1)} \left(e^{\frac{i(t-s)}{\jmath_1}} \cdot \frac{i\dagger_1 s_1^2 s_2}{\jmath_1} - e^{\frac{i(t-s)}{\jmath_2}} \cdot \frac{i\dagger_1 s_1^2 s_2 + \dagger_2 s_1(\jmath_1 - \jmath_2)}{\jmath_2} \right) +$$

$$+ \frac{|x_0(1)|^2 \cdot |\dagger_1|^2}{|\jmath_1|^2 \cdot s_1^2} e^{\frac{i(t\bar{\jmath}_1 - \jmath_1 s)}{|\jmath_1|^2}} \left(1 - e^{\frac{s_1^2 s}{|\jmath_1|^2}} \right), \quad t \geq s$$

$$K(t, s) = \overline{x_0(1)} \frac{\dagger_1}{\bar{\jmath}_1} e^{-\frac{i(s-t)}{\bar{\jmath}_1}} -$$

$$- \overline{x_0(2)} \frac{1}{s_1(\bar{\jmath}_2 - \bar{\jmath}_1)} \left(e^{-\frac{i(s-t)}{\bar{\jmath}_1}} \cdot \frac{i\dagger_1 s_1^2 s_2}{\bar{\jmath}_1} - e^{-\frac{i(s-t)}{\bar{\jmath}_2}} \cdot \frac{i\dagger_1 s_1^2 s_2 + \dagger_2 s_1(\bar{\jmath}_1 - \bar{\jmath}_2)}{\bar{\jmath}_2} \right) +$$

$$+ \frac{|x_0(1)|^2 \cdot |\dagger_1|^2}{|\jmath_1|^2 \cdot s_1^2} e^{\frac{i(t\bar{\jmath}_1 - s\jmath_1)}{|\jmath_1|^2}} \left(1 - e^{\frac{s_1^2 t}{|\jmath_1|^2}} \right), \quad s \geq t;$$

$$k = 2 \quad (\jmath_1 \neq \jmath_2)$$

$$K(t-s, 0) = x_0(1) \frac{\dagger_1}{\jmath_1} e^{\frac{i(t-s)}{\jmath_1}} +$$

$$+ x_0(2) \frac{1}{s_1(\jmath_2 - \jmath_1)} \left(e^{\frac{i(t-s)}{\jmath_1}} \cdot \frac{i\dagger_1 s_1^2 s_2}{\jmath_1} - e^{\frac{i(t-s)}{\jmath_2}} \cdot \frac{i\dagger_1 s_1^2 s_2 + \dagger_2 s_1(\jmath_1 - \jmath_2)}{\jmath_2} \right), \quad t \geq s;$$

$$K(0, s-t) = \overline{x_0(1)} \frac{\dagger_1}{\bar{\jmath}_1} e^{-\frac{i(s-t)}{\bar{\jmath}_1}} -$$

$$- \overline{x_0(2)} \frac{1}{s_1(\bar{\jmath}_2 - \bar{\jmath}_1)} \left(e^{-\frac{i(s-t)}{\bar{\jmath}_1}} \cdot \frac{i\dagger_1 s_1^2 s_2}{\bar{\jmath}_1} - e^{-\frac{i(s-t)}{\bar{\jmath}_2}} \cdot \frac{i\dagger_1 s_1^2 s_2 + \dagger_2 s_1(\bar{\jmath}_1 - \bar{\jmath}_2)}{\bar{\jmath}_2} \right), \quad s \geq t;$$

$$\begin{aligned}
 V(t,s) &= |x_0(1)|^2 \cdot \frac{|t_1|^2}{|j_1|^4} e^{\frac{i(\bar{j}_1 t - j_1 s)}{|j_1|^2}} + \\
 &+ x_0(1) \overline{x_0(2)} \cdot \frac{t_1 i}{|j_1|^4 \bar{j}_1} \left(\frac{i t_1 s_1^2 s_2}{j_1} s - 2 t_1 s_1^2 s_2 - i t_2 s_1 \bar{j}_1 \right) - \\
 &- \overline{x_0(1)} x_0(2) \cdot \frac{t_1 i}{s_1 |j_1|^4 j_1} \left(- \frac{i t_1 s_1^2 s_2}{j_1} t - 2 t_1 s_1^2 s_2 + i t_2 s_1 j_1 \right) e^{\frac{i(\bar{j}_1 t - j_1 s)}{|j_1|^2}} + \\
 &+ |x_0(2)|^2 \cdot \frac{1}{s_1^2 |j_1|^6} \left(- \frac{i t_1 s_1^2 s_2}{j_1} t - 2 t_1 s_1^2 s_2 + i t_2 s_1 j_1 \right) \times \\
 &\times \left(\frac{i t_1 s_1^2 s_2}{j_1} s - 2 t_1 s_1^2 s_2 - i t_2 s_1 \bar{j}_1 \right) e^{\frac{i(\bar{j}_1 t - j_1 s)}{|j_1|^2}}.
 \end{aligned}$$

$$H_{\langle} = L_{[0;l]}^2, \quad \} = 0$$

$$A \quad \dim 2 \operatorname{Im} AH = 1$$

$$\hat{A}, \dots \hat{A} f(x) = -i \int_x^l f(y) dy \quad [5].$$

(1):

$$\begin{cases} \frac{\partial}{\partial t} \int_x^l \langle(t,u) du = -\langle(t,u) \\ \langle|_{t=0} = f_0(x). \end{cases}$$

$$\int_x^l \langle(t,u) du = y(t,x). \quad y(t,x) \quad :$$

$$\begin{cases} \frac{\partial y}{\partial t} - \frac{\partial y}{\partial x} = 0 \\ y|_{t=0} = \int_x^l f_0(x) dx = f_1(x). \end{cases}$$

[6]:

$$y = f_1(x+t).$$

$$\dots \langle(x,t) = -\frac{\partial y}{\partial x}, \quad \langle(x,t) = \begin{cases} f_0(x+t), & x \in [t;+\infty) \cap [0;l], \\ 0, & x \notin [t;+\infty) \cap [0;l]. \end{cases}$$

$$K(t,s) = \langle \langle_t, \langle_s \rangle \rangle = \begin{cases} \int_{\max(t,s)}^l f_0(x+t) \overline{f_0(x+s)} dx, & t, s \in [0; l], \\ 0, & t, s \notin [0; l]. \end{cases}$$

5.

1. . . . n- / . . . //
- 1955. - .37(79) 1. - . 141-196.
2. . . . , / . . . ,
. . . . - .: . . . , 1974. - 328 .
3. /
. . . . - .: . . . , 1961. - 558 .
4. . . . / . . . //
. - 1959. - .4, .4. - .437-444.
5. Livshits M. S., Yantsevitch A. A. Operator colligation in Hilbert space. – Wiley, New-York, 1979. – 210 p.
6. Zolotarev V., Kirchev K. Nonstationary curves in Hilbert space and their correlation function // Integr. Equat. Oper. Theory, 1994, vol. 19.
7. . . . / - .:
[. . .], 2003. - 342 .
8. Yantsevich A. A., Petrova A. Y. About one class of vector random processes with infinite rank of nonstationarity. // Radioelektronika i informatika, 2008. - 4. - p. 38-42.